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QUESTION 1

Which of the following statements describes how the layers in the service-oriented integration architecture interact? 

A. Upper layers in the architecture use capabilities provided by any of the lower layers in the architecture. 

B. A layer in the architecture uses capabilities provided by the adjacent layers, that Is, the layer-above and the layer
below. 

C. A layer in the architecture uses capabilities provided by the adjacent lower layer in the architecture. 

D. A layer in the architecture uses capabilities provided by the adjacent upper layer in the architecture. 

E. The layers in the architecture expose functionality to the User Interaction Systems, but do not interact. 

Correct Answer: A 

 

QUESTION 2

How should the stated service-oriented Integration architecture principles be applied at an organization? 

A. All of the architecture principles must be followed. If any of the principles are violated, the architecture is not service
oriented. 

B. The organization should review and evaluate the architecture principles, and then derive their own architecture
principles that match their specific environment and goals. 

C. An organization can add additional architecture principles, but the stated architecture principles must be followed. 

D. An organization can decide to not enforce one or more of the architecture principles, but additional architecture
principles will not be needed. 

E. The architecture principles define what products will be used in the architecture, so the architecture principles must
be adjusted to reflect the chosen products. 

Correct Answer: B 

 

QUESTION 3

It has come to your notice that there is little or no reuse of SOA Services in production. After some 

investigation, you have been made aware that project development teams are struggling with Service 

interoperability challenges. 

What course of action do you take to address these challenges? 

A. A single registry is employed to ensure Services are consistently published. 

B. A single service engineering team is employed to build all Services which ensure implementation consistency. 
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C. A single technology (for example, Java) is employed to build all Services which ensure standards consistency. 

D. Design-time governance quality points are employed to ensure that Services following agreed enterprise standards
and guidelines. 

E. A single repository is employed to ensure Services are consistently discoverable. 

Correct Answer: A 

 

QUESTION 4

Which three statements differentiate SOA requirements from project requirements? 

A. SOA requirements are not owned by any single application, consist of their own lifecycle, and are managed
independently. 

B. SOA requirements are developed iteratively with the business and mapped onto the enterprise business function
model. 

C. SOA requirements have a classification that reflects the project that implemented them. 

D. SOA requirements are managed at the enterprise level. 

E. SOA requirements are concerned with the Services that deliver integration capabilities. 

F. SOA requirements are refined into project requirements. 

Correct Answer: ABC 

 

QUESTION 5

Which two statements describe SOA Governance relationships? 

A. SOA Governance integrates with and extends IT Governance 

B. SOA Governance directly aligns with Corporate Governance 

C. SOA Governance ignores IT Governance 

D. Cloud Computing Governance dictates SOA Governance 

E. EA Governance Influences SOAGovernance 

Correct Answer: AB 
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